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1.58 + 2.21 + 742 = ?
A. 3.79 B. 11.21 C. 37.9 D. 112.1
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A. 1.82 B. 3.92 C. 5.2 D. 6.48
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BMAxHmREERS Y 2
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CRIB L ERT —MBE $2499 K Al —KE KEHES :
$238.6 W4T + e RWBIF ) — kALK & EMI% 500 T
TEREH—% |

RYVERZRZ IV AHER?
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HONG KONG ATTAINMENT TEST
(Pre-Secondary 1)

hAEE EBERR
Mathematics E 2%
Primary 5 &4

Mock Paper 4
ERES (M)

Time allowed for the test: 50 minutes
B BRI 5004

]
¥

Instructions:
1. This test contains two sections:

Section A: Questions 1 — 30

Section B: Questions 31 — 36
Answer ALL questions.
Write your answers on the answer sheet.
Write your name, class and class number on the answer sheet.
You may do your rough work in the blank space of this test booklet and
there is no need to rub it out after the test.
6. The use of calculator is not allowed.
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L3 H31EFH36M
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16. Which of the following must be 16. YW TFWRIA [/ 2Rh il E L % E B
correct? a2
I. The four sides of a square are I EFBaywid 2 a5y o
equal. I %Havd A 2MEFay o
II. The four angles of a rhombus 1. w9 i% T 4 oy 20 4% P47 o
are equal.
III. Quadrilateral has two pairs of
opposite sides parallel.
A. Tonly A, AAI
B. Ionly B. AAI
C. TandIII only C. RAIAI
D. 1II and III only D. AA I A
17. What kind(s) of figures can be 17. FeN@EX AR GFRE A=A

formed by fitting eight isosceles
right-angled triangles of the same
size together?

I. isosceles triangle
II. rhombus

III. trapezium

A. Tonly

B. I only

C. TandIlI only
D. II and III only

T BFE 0 T B8 WL T RE
LE 2

. ¥B=A%
1. %%
II1. #57%
A, RAI
B. RAI
C. RAIAI
D. RANAI

BUSTIHKAT S 1R B RBLEE
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18. 1In the above figure, Peter went 18. LB Y » #E¥Ed E aih i
south from E to F. When he F-' 2 F 850 fE G 899 —18
arrived at F, in which direction is Ire) ?
he from G?

A. north-east A. Rt
B. north-west B. %t
C. south-cast C. %#&
D. south-west D. &#&
19. Charles ran towards north-west 19. AEMBHIFHT 80 m /4 + H

for 80 m. He then turned to north-
east and ran for another 80 m.
If he wanted to take the shortest
journey back to the starting point,
in which direction should he run?

A. north

B. south

C. south-cast

D. south-west

W R FTHT 80 meo R ib
PRV R B & R e O )
JE v AR Ty v L, 2

A.
B. &
C. %@
D. &#

&o TER O SEHELRERAT
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36. Pan Lloyds School held the Carnival 36. LT EREEEWBITESE
last week. The figure below shows & TEEAFFEgFaE -
the layout of the Carnival.

X X
Booih 1 Boo;th 2 N
By 1 a2 Bodth 3
i 3
X
Booth 4 Stage
B 4 e
(a) IfBooth 2 is in the south-east of (a) 4o RHAs 2 EHls 1 49 R 8
Booth 1, what is the direction 7o G AL 3 IR —
of the stage to Booth 3? (Give 7?2 (RIAFGHEZR)
the answer only) [2 marks] 2 4]
(b) There were 450 students b 2 EFETHEALEA
joining in the Carnival. % of 450 A - % AF A HEF
the students were boys and TR B AR % o FAZ
5 .
among them 5 won a prize. KR BAR S VA [45]
How many boys won a prize?
[4 marks]
7cm
(c) Kerry used the above net of a (c) A EH A LB ayIE 7 52 TH 4
cube to make some tools for R H AR R o B4
games. What is the area of this KB ARG EmAAE S Y 2 (R
net? (Give the answer only) A H W AEE) [2 5]
[2 marks]

End of Test Paper
AlERET
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